
GCSE Spanish: Free-time Аctivities
(Higher and Overlap)

MARK SCHEME

Q1. Accept Mark
1 Basketball 1
2 Cricket 1
3 Golf 1

[3]

Q2. Accept Mark
1 Facilities    P = 1        Café                      P+N = 1  (must be in this

order)
2

2 Activities   P+N = 1    Swimming pool     N = 1       (must be in this
order)

2

[4]

Q3. Accept Mark
1 P 1
2 P + N 1
3 N 1
4 N 1

[4]

Q4. Accept Reject Mark
1 B 1
2 A 1
3 E 1

[3]
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GCSE Spanish (Higher and Overlap) Free-time activities – MARK SCHEME

Q5. Accept Mark
1 F 1
2 P 1
3 N 1
4 F 1

[4]

Q6. Accept Mark
1 They don’t do it because they are lazy. 1
2 The advantage is enjoyment / pleasure / [having] fun. 1

3 It is a little / quite / rather disappointing that they (many young people)
don’t do physical activities / activity. 1

[3]

Q7. Accept Mark
1 E 1
2 B 1
3 F 1
4 D 1

[4]

Q8. Accept Mark
1 Diego 1
2 Luisa 1
3 Yolanda 1
4 Tente 1

[4]

Q9. Key idea Accept Mark
1 Did you think that the film was

going to have so much success?
Did you think that the film was
going to be so successful? 1

2 When are you going to return /
go back to Spanish cinema /
film?

1

3 Who is the Spanish director that
you most admire?

Which Spanish director do you
admire (the) most? 1

4 Does it make you angry to see
your private life (revealed) in the
media?

Does it annoy / anger you to see
your private life (revealed) in the
media?

1

[4]

Q10. Accept Mark
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GCSE Spanish (Higher and Overlap) Free-time activities – MARK SCHEME

1 T 1
2 ? 1
3 F 1
4 F 1

[4]

Q11. Accept Mark
A

E

D
3

[3]
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